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AT — () T geT s &

(i) 797 97 4 3T T4 A7 GG g@E 9gHv I [oneay ]

(iii) TET HHH 1 & 5 TF TG [75 J97 & FAT & fo7d 5 5F BT &/

(iv) ¥7 BHIE 6 & 24 TF H e ey 3 13 &/

(v) HIT BHE 6 F 10 TF AP F97 @ o170 2 3j& BT &8/

(vi) I HHE 11 & 17 T JAB J97 4 3 &7 & vq g9 & SV ATHT 75
szt o foreger &/

(vii) F¥7 FHHH 18 W@ 22 TF FAF F97 & o7 5 3F VT 99 & GV I THT
120 st 7 foreger &

(viii) F¥T HHH 23 & 24 TF FAF F97 & [o7¥ 6 3HF T 99 & TV FTHT
150 st 7 foreger &/

INSTRUCTIONS: -

[130]-111

(i) All questions are compulsory.

(i)  Read the instructions of the question paper carefully answer the questions.

(iii)  Question No. 1 to 5 are objective type. Each question is allotted 5 marks.

(iv) Internal options are given in Question No. 6 to 24.

(v)  Question No. 6 to 10 Carry 2 marks each.

(vi) Question No. 11 to 17 Carry 4 marks and answer should be given in about 75
words.

(vii) Question No. 18 to 22 Carry 5 marks each and answer should be given in about
120 words.

(viii) Question No. 23 and 24 carry 6 marks each and answer should be given in
about 150 words.
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91 el fdbeu Faax fafay —

Choose the correct alternative:—

(i

(ii)

(i)
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fr=ifed 9 9 &9 e e § $9IR & IR | faR 9 faavor fyerar & —

(i)  JIH

(i)  XToT aRiATof
iy fa mfde
(iv)  IdiSTel!

In which of the following books, do we find detailed in formation about Kashmir:—

(i) Arthashastra
(i) Raj Tarangini
(i)  Geet Govind

(iv) Geetanjali

Afaa Ao § gt fdar w9 o —

() 299 11 918 3R 18 feA
(i) 2 99 11 918 3R 20 feA
iy 2 a¥ 11 718 3R 8 o
(v) 2 a9 11 #18 3R 10 fa=

The constitution was prepared in —
(i) 2 Year 11 months and 18 days
(i) 2 Year 11 months and 20 days
(i) 2 Year 11 months and 8 days
(iv) 2 Year 11 months and 10 days

UTeY AR BT Jeger hie or?

() S FTSHR
iy 9 UH IqH
(i) @ A A

(v) Y $HeIq

Who was the chairman of the Drafting committee?

(i) Dr. Ambedkar

i) B.M.Rau.

i) K. M. Munshi

iv)  Subhash Kashyap
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(iv)

IS SIRANT BT o 1ehel Bl & i—

()  ~rgufa

(iy  GTHAT
Giiy =
(iv) TEHA

The ex — office chairman of the planning commission:—
(i) President

(ii) Prime Minister

(i)  The Finance Minister

(iv)  The Home Minister

YT NI B eqol Bl gefd fb T @l 82

(i)  cflc

(i) B

(iii) ATed

(iv) TR

The back ground of the flag of the United Nation is of which colour?
(i) Red

(i)  Green

(iii)  Blue

(iv)  Orange

g2 Read =l &1 gfd sifog—

Fill in the blanks:—
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TSTHTYT ST B STETET ..o o
................... was the chairman of official language commission.
AT FHAT T oo H gar o |

The problem of chakma Refugees was between India and ..................
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U3 9/ I BT YA — )

Identify True/False statement:—

(i

(ii)

(i)

(iv)

(v)

qH — I & NG 1 IR § GRe0THS &Fars $l ggrar 3T |

Theory of sons of the soil promoted regionalism in India.

HEHINGT § AM{ed SRG&NIE P YdTE 1 1T & |

Collective responsibility is promoted in co — operative movement.
IRAT ST A 1991 | FATT DR &7 a7 |

Warsaw pact was cancelled in the year 1991.
TefaRuerar @ Y rawRarfaar o Ay 2 |

The policy of Non — alignment is the Policy of Opportunism.
faeq & ST fSTa goft qen <wfea e 9 aifdes o1 T Awar 2 |

World Bank can give more loan than its acquired capital and accumulated fund.

Y4 TH & /UH I H IR AITT— (5)

Answer in one word / sentence:—

(1)

(2)

(5)

IARDT BT YR A T 2?
What is the full form of UNESCO?
Y M DI FHoil [ Bl Il &7

What is called as the Key to the United Nations?

SERIGRT BT & Iga FIT 27

What is the main purpose of Liberalisation?
TRAT 2T BT FHET Foh TE?

Where was Indian peace keeping force sent?

dTeThe |HSICT Bd Gl ofT?

When was the Tashkent Pact signed?

U5 SISl IT— ()
3 g
() e gHsiar (31) HEpf® 3 — Yo
(i) SMFBIBRT @ uRe ufader o1 e
iy 1 TEEROr § qrn (@) TTE 1972
(v) HRPIIH IIRIDR] @) vue e fem § gRaaq
W) FedreRor € 9 ge
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.6

.7

.8

9.9

9.10

Match the column.
A B

(i) Shimla Pact (a)  Cultural Exchange

(ii) Modernisation (b)  No commercial restraints

(i)  Obstacle in Disarmament (c) July 1972

(iv)  Cultural Liberalisation (d)  Change in a definite direction
(v)  Globalisation (e) Cold war.

5% foraTed |usid &1 fhdl Ua ord aT ford |

Write anyone of the conditions of Nehru Liyaquat Pact.
sigar/ OR
Ser WS S @ W o
What was the demand of Tamil Speaking people?
IR TR & PIg &I URMH 18 |
Write any two consequences of Refugee Problem.
sigar/ OR
TRER Joot¥ T3 Ucd &I MIRd &1 fae 1 9l dwal Sfrar g7
Why Sarder Vallabh Bhai Patel is called as the Bismarck of India?
T T T BT 27

What is Judicial Review?

aezrar/ OR
Uy AR & deil @ A ford |
Write the name of members of Drafting committee.

e fRuer T &1 @ ek 22

What do you mean by ‘Non — alignment policy?
aierar/ OR

AT BT AT & T e 7

What are the objectives of establishing “SAARC”?

TR 3R IARBT & A HAIUE b PIs &I BRI 18V |

State any two reasons for differences of opinions between India and America.

srerar/ OR
ARSI DY IR H mAT?

How did Bangladesh come into existence?
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.11

U.12

.13

U.14

.15

.16

fes a1 & ¥ IR fARwan Ry |

Write any four characteristics of Backward Classes.
s/ OR

JLYAT R B & Py IR I foIfey |

Write any four measures to remove untoachability.

IRA H AHIS AT HT ol BRI T 57

What is the root cause of social inequality in India?

srerar/ OR

3MMfefeh SIAATT §R B B WRGII WAGM gRT YA Ul BT qui & |

Explain the measures proposed in Indian Constitution to remove economic inequality.

AEHIRAT 3G Bl IFHeId] & Pl IR HRYT fARaU |

Write any four reasons for the failure of Co — operative Movement.

st/ OR
gl BT AT Sifa H T Ao &7
What is the importance of forests in human life?

N gJg & SRS o [A3gT HIRY | (@ aR)

Explain the reasons of the cold was. (any four)

sigar/ OR
T & RIgTdl BT Seeld BIfY |
Mention about the Principles of “PANCHSHEEL".

TefRueT MfRIe &1 Uil @ g2

What are the achievements of Non — Aligned Movement?
sigar/ OR

faeg 9% & s w1 B?

What are the functions of the World Bank?

RIS T SR GHsi & R UTaer aT o7

What were the main provisions of Rajiv Gandhi Jayawardhene accord?

arerar/ OR
it B IR TR RT 87

What is Tamil problem in Srilanka?
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17

.18

.19

U.20

.21

U.22

ATGIHRYT b FHET B QTedl ATl aargd | (@)
Write a note on the challenges before Globalisation.

gerar/ OR
SMYABIHROT B TRUTST < §U ! fARIvad qargy |

Give definition of Modernisation and also write its Characteristics.

1Y GG ANT & 69 Ud IS9P TRd RIBIRe 1R garer Sifor | )

Throw light on the formation of State Re—organization Commission and its main recommendations.

srerar/ OR
PR TIRT R Uh ey IRy |

Write an essay on Kashmir Problem.

AT UGS AN & & ST BT qui BN | (5)
Explain the main functions of Madhya Pradesh Backward Class Commission.

sigar/ OR
PBIRT PHITADR ATANT DI AT BT g I |

Explain the recommendations made by Kaka Kalelkar Commission.

IRA ¥ &d1E & &I B HRON BT g0 & | (5)

Explain the causes of rise of Regionalism in India.
srar/ OR

fReRar fawr # <1 arm 2| ¥ BIRTT |

Clarify that illiteracy is a big hindrances to development.

T 3feTe™ & HRUN &I ARAT HIFTY | (5)

Explain the cause of chipko movement.

st/ OR
AEBIRAT & eIl BT quid DI |
Discuss the objectives of Co — operative Movements.

TR facer DT &1 uwifad =4 arel d@l a1 fAade=r ST | (5)

Explain elements affecting India’s Foreign Policy.

serar/ OR
RIS IT eeN IR a-Ta—3fred & U9Td &1 fader I |

Discuss the effects of ‘Détente’ on International relations.
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¥.23 WA AT @Y magaddr & fades T iy |
Discuss on the need of making constitution.

aerar/ OR

YR GiAe™ & g Sl @ [Gaa=T HIfog |

Discuss the main sources of the Indian Constitution.
Y24 HIH G FE B I BT g0 B |

Explain the objectives of the United Nations Organisation.

srerar/ OR

OO\

fI9IR=NHYOT BT IAHIdl D PR BT Soold DI

Mention the reasons for failure of Disarmament.
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